1. Approximate the area under the graph y —
3 intervals (n = 3) and midpoints.
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2. Which of the following is the formula for the Riemann sum
f(x) =z over [1,2] with n-subintervals and right end points?



3. Evaluate
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4. Evaluate the integral fi x - 2z~ 1] d.
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5. 1If ff J(x) dx =2, and f; flz} de = —1, then evaluate

/15 2f(z) =1 de.
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6. Evaluate [~ ae” g
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7. A particle is moving on a line with velocity function
v(t) = 1" —t — 2.
What is the displacement of the particle from ¢t = 0 to t = 37

o
o
S
o] [

/*\
[
N
Lo oo

(2 J7p drs Lot oot
Jz%ps’ﬁcuﬁ@/ﬂ%;“ J t -7-2 - 310 8
o
_ .7 .€
- 9.9«
-9-2 &
-3



8

8. What is the general indefinite integral
/ ! + 2% dx?
T
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9. A particle is moving along a line with velocity function v(t) =
3t — 6. What is the total distance traveled from ¢ = 0 to t = 47
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10. What 1s
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11. By finding the maximum and minimum of f(z) = ﬁ%; over
10, 3], find @ and b such that
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12. Express the integral
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as an integral in u using the substitution u = z% + 2z.
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14. Find the area of the region enclosed by the curves y = 82° and
y = 2+ 627,
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15. Find the area of the region enclosed by the curve y = %3"2 and
the two lines y = x anc/lky = .
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